FDP Answer Key 
SESSION 1
BLM 3
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BLM 4
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BLM 5
[image: C:\Users\aknapp\Desktop\eMAPPS\FDP Session 1\BLM 5 Key.JPG]
BLM 6
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$8.00 Solution: 2x$2; 3x$1, 2x$.50
$12.00 Solution: 2x$3; 3x$1.50, 2x$.75
$1 Solution: 2x 25 cents; 3x 12.5 cents; 2x6.25 cents

BLM 7
[image: C:\Users\aknapp\Desktop\eMAPPS\FDP Session 1\BLM 7 Key.JPG]


BLM 8
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SESSION 2
BLM 11

BLM 12
1. 2/8, 3/8
2. 10/12, 1/12
3. 4/16, 2/16, 7/16
4. 2/6, 3/6 (1/2)
5. 2/18, 9/18, 6/18 (1/3)
6. 3/12, 8/12, 1/12
7. 3/15, 5/15, 6/15, 1/15
8. 3/12, 4/12, 2/12, 3/12 (1/4)
SESSION 3
BLM 14 (Homework from Session 2)
1. 4/15 left
[image: ]




2. 6/12= ½ of a bag
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3. Less than 2/3 of the way 
through her book.

BLM 16
1) 1/3
2) 1/6
3) ½ + ½ + ½= 1 ½
4) 1/3 + 1/3= 2/3
5) ½
6) 1 2/3
7) 1 1/6
8) 2 1/3
9)  **multiple answers: one possible: 5 cookies and 3 people


BLM 17
	
	
	
	

	1
	½
	1/3
	1/6

	6
	3
	2
	1

	3
	1 ½
	1
	½

	2
	1
	2/3
	1/3

	½
	¼
	1/6
	1/12

	2/3
	1/3
	2/9
	1/9

	6/8
	3/8
	¼
	1/8



SESSION 4
BLM 19 (HOMEWORK FROM SESSION 3)
1. 
[image: ]

2. [image: ]

3. 
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BLM 21
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BLM 22
	Bank
	2/12 = 1/6

	Playground
	3/12 = 1/4

	Police Station
	4/12 = 1/3

	Factory
	6/12= ½

	Burger Barn
	8/12 = 2/3

	Gas Station
	9/12 = ¾

	My School
	12/12 = 1






BLM 23
1. Light green
2. Dark green
3. 1/3
4. Dark green
5. 4/7
6. Yellow
7. 5/6
8. Brown
9. 8/9
10. Dark green
11. Purple; dark green
12. Purple; yellow 
Session 5 
BLM 25 (Homework from Session 4)
1. 420 miles
2. 64/80 = 4/5 
3. [image: ]




BLM 27
a) 0.45
b) 0.24
c) 0.5
d) 0.734
e) Equal
f) 0.6
BLM 30
1)      		3 wholes  and 1/10 or 10/100
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	




1 whole and 64/100
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


1.64 + 3.1 =  4.74
2) 	2 wholes + 3/100 (three- hundredths)
		2.03


3) 	15/100 or 0.15
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


80/10 or 0.8
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	 
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	



SESSION 6








SESSION 7
BLM 37 (homework from session 6)
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BLM 40
1. 80%
2. 20%
3. 40%
4. 94%
5. 20%
6. 45%
BLM 41
1. 1 blue, 2 green, 3 red, 4 yellow
2. 10 red, 2 blue, 5 yellow, 3 green
3. 3 green, 1 yellow
4. 16 blue, 2 red, 1 yellow, 1 green
5. 1 yellow, 3 blue, 1 green
6. 16 green, 34 blue, 40 yellow, 10 red
7. 48 yellow, 12 red, 17 blue, 23 green
8. 1 blue, 2 green, 4 red, 1 yellow
9. 150 green, 48 yellow, 1 blue, 1 red 
10. 1 blue, 1 red, 1 yellow
BLM 42
1. [image: ]
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                c. Add 10 more triangles for a total of 25 triangles.   60/15 = 40/x   x=10.
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BLM 43
1. 
a. 50%, 75%
b. 20%, 30%, 80%, 100%
c. 20%, 60%, 120%

[image: ]
SESSION 8
BLM 46 (homework from session 7)
1. 15%
2. 20 Participants
3. 30 Participants
BLM 49 
1. 20%
2. Black
3. 62.5%
4. Purple
5. (Omit) No solution (There is no block representing 4.4.)
6. 150%
7. 25%
8. Red
9. Yellow
10. 1%
11. 25% or 2/8
12. Dark green
13. Yellow
14. Red
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